
Problem SECURITY: Security
The Brazilian police has decided to take new security measures in order to be prepared for the FIFA World Cup
scheduled for June, this year. The police has a map of Rio de Janeiro, depicted as a graph with N crossings and M
roads. Each road has unit length and connects two different crossings.
K of these crossings host many illegal activities throughout the year and are thus considered being of high risk.
The police department wants to place officers in every high risk crossing, to be able to deal with unexpected events.
Unfortunately, due to lack of funds, there are only K − 1 officers available for the job.
In order to still cover every high risk crossing, one single officer has the responsibility of watching over two interest
points. For a higher degree of safety and in order not to overwhelm that one officer, the police chief wants the two high
risk crossings to be as close as possible to each other. However, finding the minimal distance between any two high
risk crossings is a hard problem for the police staff, since it requires knowledge about graph theory and mathematics.
They need your help!

Input
The first line of input contains three integers: N , M and K, where N represents the number of crossings, M the
number of roads and K the crossings of high risk (1 < K ≤ N ≤ 1 000 000; 0 < M ≤ 1 000 000). The second line
contains K different numbers, the 0-based indices of the high risk crossings. Then M lines follow, each holding two
integers ai and bi, which define a road by its vertex indices (0 ≤ ai, bi < N, ai 6= bi).

Output
The output contains one integer, representing the minimal distance between any two high risk crossings. If there is no
connecting path between any two crossings, then output “Impossible”.

Sample Input 1 Sample Output 1
4 3 2
0 3
0 1
1 2
2 0

Impossible

Sample Input 2 Sample Output 2
8 7 3
0 4 7
0 1
1 2
0 2
2 3
3 4
2 5
5 7

3


